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Question 1| {Conic Sectwons), Consider
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(question | continued)

1
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(question 2 continued)

Now consider the function g : R? -5 R defined by
JA+
g(r.y) = (" cos 2z) + log 2+ y

In is the natural logarithm).

(where log = log, =

(¢) [25p Show that
(qu ()2 =0
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Question 3 (Polar Coordinates).
‘ (a) {25 pts] Graph the curve
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{question 3 contrniued) —

(b} 25 pts] The region shared by 7 ‘ .
g ' :d by the circles r = g — 940 8 is shown below. Calculate
thie arenof i region, 2cosf and r = 2sind is shown below. Calculate




